m B Al B KSR R

(BH%)

o % B HE(Keg) HEOG 2 & hE(%) EHEHE
1 * ¥ ~N Y 627, 607 19.9 2 96, 037, 420 9.3 89
2 = ES 1 F 376, 391 1.9 3 39, 349, 428 6.5 105
3 = (A : A 341, 996 10.8| 4 33, 837, 842 5.6 99
4 (& & (A 241, 245 1.6 1 21, 863, 041 3.6 91
5 < ~ C ~ 189, 771 6.0/ 10 19, 209, 379 3.2 101
6 |k ~ ~ 176, 889 9.6 1 12, 461, 316 12.0 410
7T & K W L & 166, 363 9.3 11 18,616, 777 3.1 112
8 ga) A L & 115, 968 3.7 19 11, 827, 310 2.0 102
9 R F 101, 971 3.2, 6 23,233,022 3.9 228
10 Z ES 3 88, 954 2.8 14 14,577,990 2.4 165
m v 3 A 11,444 2.5 16 14,112,679 2.3 182
12 | & w 3 Y 16, 558 2.4 5 25,972, 669 4.3 339
13 |72 El 95, 484 1.8 13 17,362,677 2.9 313
4 — = v 48, 807 1.5 12 18, 359, 373 3.0 376
iz o F £ It 44,167 1.4] 18 13,212, 349 2.2 295
16 | & & (A b 34, 200 12 8,980, 061 1.5 263
17 H» ES 5 Ay 32,144 1.0 29 4,291, 587 0.7 134
18 | L & C 31, 945 1.0 8 21,071,317 3.5 660
19 | C ES D Ay 27,103 0.9 22 8, 365, 990 1.4 309
20 = = b+~ % b 26, 825 0.9/ 9 20,907, 317 3.5 179
21 | 7 v a3 ) — 26, 324 0.8 23 8,159, 004 1.4 310
22 | 1Z A E S 24,7725 0.8 15 14, 456, 707 2.4 985
23 | A 18,073 0.6 38 2,296,971 0.4 1217
24 /£ L W f= ¥ 17,682 0.6 17 14,054, 219 2.3 195
25 | IZ 5 16,171 0.5 24 1,701, 322 1.3 476
26 A - A 15, 897 0.5 25 5,706, 631 0.9 359
21 | i AN (A b 11,816 0.4 31 4,181, 545 0.7 354
28 | 7x o) - 11,503 0.4 33 3,748, 206 0.6 326
29 | 2 A Iz < 11, 404 0.4 20 10, 093, 568 1.7 885
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(B 3)

o % H HE(Ke) RO T & @ E (%) TRBE
0 L & 5 N & 10, 080 0.3 217 4,930, 357 0.8 489
31 Z &£ 3 AN 9,961 0.3 30 4,201,221 0.7 422
2 Frhy YA 9,248 0.3 35 2,927,790 0.5 317
3 B % X 1,389 0.2 40 2,269, 602 0.4 307
K % 1) — 6,299 0.2 43 . 974,525 0.3 313
% L v A F L 6,070 0.2 36 2,906, 611 0.5 479
6 Hh U 7 F T — 5, 441 0.2 52 695, 210 0.1 128
3 W A +F A 9,301 0.2 32 4,124,794 0.7 178
38 F (A = I+ 4,853 0.2 28 4, 665, 318 0.8 961
39 b [+ =3 4,764 0.2 34 3, 385, 580 0.6 111
40 & 2 K& B 4,729 0.1 42 , 988, 491 0.3 420
v F o W D 3, 449 0.1 44 , 193, 835 0.3 520
42 | » A I 2,587 0.1 49 117, 834 0.1 271
817 X N F A X 2,118 0.1 39 2,212, 406 0.4 1,043
44 | X E3 1,986 0.1 26 5,200, 497 0.9 2619
45 | F Z 2 1,876 0.1 46 , 468, 499 0.2 183
46 | /X ) 1, 851 0.1 41 2,038, 630 0.3 1,101
41 1 A & 5 & W 1,411 0.0 63 427,992 0.1 303
48 | A & 1,324 0.0 62 435, 855 0.1 329
49 | # &£ 3 AN 1,299 0.0 45 472,744 0.2 1,134
50 | % = ES & 1,257 0.0 50 704, 624 0.1 961
51 | 2 ES H X 1,052 0.0 66 237,424 0.0 226
2 ' T ¥ v L v b 1,043 0.0 48 895, 864 0.1 859
53 | D [+ LAY 921 0.0 60 443, 805 0.1 482
S h v o+ H = 915 0.0 57 512,049 0.1 560
5 L L&ESHDBL 894 0.0 47 948, 023 0.2 1,060
56 | z 5 13 601 0.0 64 316,575 0.1 527
57 ¥ Ea 2 565 0.0 53 599, 646 0.1 1,061
58 Iz A Iz < F 256 0.0 65 267, 751 0.0 482
5 & A 3 A 485 0.0 61 442, 502 0.1 912
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(B 3)

£

i 2 = HE(Ke) B T & B LR (%) THEIE
60 | & 5 A B L 480 0.0 58 508, 946 0.1 1,060
61 B A k) 414 0.0| 55 553, 857 0.1 1,338
62 ES D 1= IF 356 0.0 37 2,588, 162 0.4/ 17,270
63 & v 2 A & S 252 0.0 56 524,160 0.1 2,080
64 | & 4] 234 0.0 54 598, 218 0.1 2,556
65 T v Yal)l— LA 228 0.0| 67 217,271 0.0 953
66 € O ~N A4 ¥ 224 0.0| 68 214, 842 0.0 959
67 AN - 2 3] 204 0.0 51 698, 470 0.1 3,424
68 | L z 141 0.0 59 454, 246 0.1 3,222
69 Y 136 0.0| 69 124, 226 0.0 913
0 & 5 3 A2 2 L 60 0.0 74 11, 340 0.0 189
AE3 it = 52 0.0 72 23,374 0.0 450
12 | E — A 42 0.0 73 14,071 0.0 335
315 E 40 0.0 M 25,200 0.0 630
74 1= IF ()] - 8 0.0 76 3,675 0.0 459
15 | bH = [6) 5 0.0 70 56,123 0.0 11,225
16 | < H Ly 5 0.0 75 7,875 0.0 1,575
1 T 0O i B x # 6, 481 0.2 4 825, 261 0.1 127
2 T DO E0CHE 3, 321 0.1 1 2,389, 622 0.4 720
3 £ 0 £ ¥ % 3,215 0.1 5 633, 446 0.1 193
4 T D EE X 2,685 0.1 3 946, 042 0.2 352
5 ZTOMEEDEME 1,111 0.0 2 1,625, 955 0.3 1, 464
6 = o M B E 136 0.0/ 6 139, 577 0.0 1,026
7 & 0O b B E £ 66 0.0 7 94, 261 0.0 1,428

g7 x &t 3,155,974 100.0 602, 598, 003 100.0 191
(£%)

e ) = HE(Kg) HEOG ZH 2 B L (%) FIEE
1 |&# A B 1,029, 818 38.9| 1 196, 013, 833 33.8 190
2 h =3 H 677,108 25.6 2 162, 242, 010 28.0 240
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(BR=)

o % H HE(Ke) RO T & @ E (%) TRBE
KA + + 240, 244 9.1 5 31, 525, 608 5.4 131
4 Y A H 231,138 8.7 3 47, 505, 165 8.2 206
5 3 L & 188, 241 1.1 4 43, 699, 374 1.5 232
6 | A Ao v H 63, 900 2.4 1 19,673, 959 3.4 308
T 5 & S H 92, 405 2.0, 6 28,726, 304 2.0 948
8 |7 W n 40, 401 1.5 9 6, 394, 605 1.1 158
9 Ly 5 5 < 29, 537 1.1 8 16, 849, 394 2.9 570
10 L E % 20, 051 0.8 10 4,926, 411 0.9 246
1" TJL—FI7L—-v 16, 048 0.6 16 1,842, 359 0.3 115
12 K427 v TN 15,512 0.6 11 2,896, 7136 0.5 187
13 NLooT7HLID 13,515 0.5 12 2,193, 458 0.5 207
14 % & & 5,550 0.2 14 2,468, 025 0.4 445
| F24271L—-Y 4,322 0.2 15 2,108, 196 0.4 488
16 | < Y 3,081 0.1 17 1,700, 659 0.3 952
17w 5 Z & 1,569 0.1 13 2,782,164 0.5 1,713
1 TOMBFTEAFTRE 9,116 0.3 1 3,663,677 0.6 402
2 o # R = 2,184 0.1 2 1,142,127 0.2 923
3 ZTOMI—RZHRE 908 0.0/ 3 429, 259 0.1 473
4 ZTOMEBRL &S RE 29 0.0 4 45,150 0.0 1,557

ES = &t 2,644,677 100.0 579,428,473 100.0 219
(850, MI&H)

o % H HE(Ke) RO T & #E E (%) THBE
T3 © L 31, 346 47.6| 2 3,312,978 20.7 106
2 5 O & 19, 473 29.6| 1 9,498, 748 34.4 282
3 |2 A I » (< 3,911 5.3 4 860, 123 5.4 245
4 o F 3 H 2,276 3.5 3 1,469, 325 9.2 646
9  ® X & 628 1.0 5 969, 248 3.6 906
6 F O mIm 513 0.8 9 207, 291 1.3 404
1 LAy e & 3 338 0.5 7 230, 517 1.4 682
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(BEN, MMIT &)

£

o g 8 ME(Ke) HEOG I & @ HE() THEME
8 | A F S5 WLV B 314 0.5/ 6 489, 543 3.1 1,559
9 K =2 3 161 0.2/ 8 229,110 1.4] 1,423
10 | & L N & 66 0.1 1 108, 864 0.7/ 1,649
nmiag +F £ v 2 A 66 0.1 10 110, 880 0.7 1,680
12/ F L W = it 18 0.0 12 16, 902 0.5 4,272
13| W t N ) 6 0.0 13 217,300 0.2 4,550
T /£ o # m T & 3, 491 5.3 1 1,371,141 8.6 393
2 ToMmIR=E 2,021 3.1 3 978,194 3.6 286
3 T oM I ¥ x 1,400 2.1 2 671, 359 4.2 480
4 T 0 fthFz R EF X 250 0.4 4 171, 608 1.1 686
5 T DOMmEBERRE 4 0.0 5 1,18 0.0 1,930

EWM. mMI&E 65,882 100.0 15,990,849  100.0 243
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